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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions.

L

. If necessary, round off ans

. Diagrams are NOT nece

This question paper consists of 8 questions.

. Answer ALL the questions.

. Clearly show ALL calculations, diagrams, graphs, et cetera that you have used in

determining your answers.

. Answers only will not necessarily be awarded full marks.

. You may use an approved scientific calculator (non-programmable and non-

graphical), unless sta

mal places, unless stated otherwise.

wn to scale.

. Number the answers correetly aceording to the numbering system used in this

question paper.

. Write neatly and legibly.
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QUESTION 1

1.} _: FJ:QIZI] the diagram below , A (—4; —2) and B (3; 5) are given, determine
the following:

or‘eth%fEi:m

D(0-4)
1
1.1.1  The gradient of AB. (3)
1.1.2 The length of AB. (3)
1.1.3  The midpoint of AB. 4)
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1.2 Use the diagram below with point A (—3; —4) to answer the following
 questions.

1.2.1 (2
122 Calculate the vaie of cos 0 @)
123 Pprove that cos6.tan8.sec = g (2)
[16]
QUESTION 2
2.1 Determine the values of the following using a calculator:
3cos120° (2)
sin150°—cos 80°
2.2 Determine the value of each of the following equations, correct to two
decimal places:
221 4sinf =21 (2)
(2)
23 e value of:
4

Copyright reserved Please turn over



Déwnlodded from Stanmore%!;lgsics.com LimpopoDoE/June 2025

24 : Find the value of x without the use of a calculator:

sin50°.sin30° cos e ¢50° (5)
cot45°

xcot60° =
[15]

QUESTION 3

3.1 In the diagram below, 4 = 40°; €, = 100° and BC = CD.

2
D

3.d:1 "1 (2)
3.1.2 E’z (3)
3.2 Give two properties of a rhombus. (2)

3.3 The diagram below shows parallelogram ABCD, with AB//CD and

AD//BC. A =x + 20°and € = 2x — 60°.
F

Determine the value of C. (3)
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D. Prove that ABCD is a

D

C &)

If D, = 2x, calculate the value of x. 4)
[19]

TOTAL: 50
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QUESTION 1
1.1.1 =y Y2~ N vy 22~ h
T =
- X =% X%
15-(=2) 52}
v 4
() ()
vl &)

v \/(xz_xl )2 + (yz £ )2
v

JB=(4) +(5-(=2))
V9,99

3)

1.1:2
1.1.3
_(—4+3_—2+5]
3 " O
_(—_1.2)
272
=(-1515)

1.2.1 x2+y2=r

9+16=r7
r=4/25 Frass
r=>=5 )
1.2.2 cosg=£=__3 /__3
r 5
I A 4 2)
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1.2.3 | cosf.tanf.secd /_3 4 5
3 4 5 5 3 -3
=55 3 -3
4 2
=_ 3
] 3 (2)
[16]
QUESTION 2
2.1 3cos120°
sin150°—cos 80° v —4,596266659
=—4,596266659 o 2
4,60 4,60
2.2.1 | 4sinf=2,1
sinf == /sin9=2’1
4
0 =sin"'(0,525)
0 =31,66824325" [l VO=317° )
0=31,7°
222 | cos(0+15°)=0,845
g v 0+15°=cos ™' (0,845)
v0=17,3° @)
2.3
v 0
1 2
0
_1+4 2
. 32
_2 2
4
73
4 (4)
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24 vcot60° = S0 50°.sin30°.cos ec50
cot45°
x.cot60° = P
cot45°
1 1
= =
x_[L] _2 NS
V3) 1 1
v
1 1 Py
)10 2
3 2
V1
3
X=— 1
2 v —x+/3
2
B )
2
[15]
QUESTION 3
3.1.1 v'S/R
v B =60° (2)
3.1.2 v'S/R
v
B, +C,+ D, =180°(sumof Zs of A)
B, = 40° v B, = 40° (3)
32 - both pairs of opposite sides are parallel.
- all sides are equal.
- diagonals bisect the angles.
- diagonals bisect at right angles. v
- both pairs of opposite angles are equal Any 2 properties (2)
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33 | A=C(opp £sof //™) 'S
X+ 20° = 2x — 60°
2x — x = 60°+ 20°
x = 80° v x=80°
¢ = 100° v € =100° 3)
34 | InAABCandA CDA
B = D(given)
AC is common
€, = A, (altzs =;AD//BC) vSYR
- AABC = ACDA(¢, 2,9) VSR
AD = BC(AABG = . Vs
- ABCD is a par: e=//) "R
OR (5)
v'SR
vR
v'SY'R
¥R
3.5 ¢, = 100°(opp 25 of //™) S
C, = 80°(adjss on a str line = 180°)
E = 80°(4s opp = sides) VS
D, = 20°(sum of 4sina A)
2x = 20° VSR
x = 10° v answer )
[19]
TOTAL =50
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